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If it was punctured so pomegranates fall out; it is completely Toh ’hoir

Overview
&27 ruled that if the 091 *%5 is punctured to such an extent that it cannot contain
pomegranates, it is completely 7170, Our 190N has some difficulty with this ruling.

nvoIN asks:
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The "1 is astounded; how does X271 rule that 12°7 X°X110 2p°1 is 2957 717w, but if

he designated it for a X9wos it is N Hapn -
= NI 19 ONTY IWIN9D) 20902 WYDTD

As >'"'w1 explained, and his explanation is certainly correct -
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For even if the 071 °%> broke into small pieces, the pieces are nxmw Yapn

according to the laws of R91%3; meaning -
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If these broken pieces have the required size which is specified in 2°> nzgn -
= )N YPINIPAPY 11 AN SI9AY DIPTN (3,1 pony MV 1IN P93 1Y Y1)

And is cited in m2™w WX P, namely ‘regarding the smaller of o917 Y92

themselves, or their bottoms or their walls (sides) if they are broken -
- 5915 199293 AND 1Y N9 NY 1Y 3)0P NPT 792 YNV PINIDN XYY Pavy

If they can rest without support, their size for &m0 n22p is to contain enough oil
to smear on a young child, this amount is sufficient if the initial vessel was up to a
29, and if the initial vessel is from a 3% until a 7I8® the size is a Ny an, ete.’ The
question is how can X211 state 21921 7Y, when there is still X00%) &MY —

mMooIn has an additional question:
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And the R'"2w9 has an additional difficulty; for X217 could have said there are
six measurements for a 717 9> and include X700 —

! X003 is a shard,; it is placed under leaking utensils to collect their drippings.
2 m%an e a7
3 This means smearing oil on a small finger of a day old infant.
4 %21 could have said that even after it was 777 X°%115 277, if he designated those 212w for a X700, they are Xnun,
either if they contain v N2°0 >72 or a N°¥°27 as previously stated. See ‘Thinking it over’.
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NID0IN answers:
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And one can say; that when the 07171 °2 breaks entirely, the shards are fit for a
RLOOA -
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However if the utensil is whole but it is only punctured 112239 X°%5 this punctured

53 is not fit for a X Vs -
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And even if he designated it for a X7v0°3, his opinion is nullified by what all other

people do; we ignore his preference.
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However from s'"29 explanation it seems that even when it was NX12 3792

119, it is still fit to be used as a XwE (if it was designated as such) -
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For w1 explained that when X2 ruled that if 1727 X% 2p°1, it is 21957 9T, that

meant only as a 23, unless he designates it for a X7; then it is xnvn -
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And according to s""v" explanation, the reason X217 did not mention six MT»

instead of only five, that is because -
= 19975 UNHNWANY DI155WD NN 9991 NOY

X2 was only discussing a case where he can use the >3 in a normal manner -
21N DY 1701 19 ON NIN MR PN 111999 NO¥INND 2PN

However when it is 1199 X°X1%> 3ps1 it is not fit to be used (in a normal manner
[even as a X7v0%]), unless he tilts it on its side.

Summary
NI90N maintains that a 17°7 X°X% 2% °93 is not fit to be used as a X3, while

»"w1 maintains it can if it is tilted on its side.

Thinking it over
Mmoo asks why did not X271 mention six M2 Seemingly there are six; 1. XX
aPwR, 2. TRWN 0139, 3. Top WD, 4. 1T XXM, 5. 1 R¥IND, 6. 3210 nnol.’

5 X327 is discussing a 23 which is punctured, not a *93 which broke into pieces, therefore he did not mention X700%
because a perforated °2 is not fit for X700 ) as opposed to a shattered >22.
¢ See footnote # 2.
7 See footnote # 4.
8 See footnote # 4.
? See X"wnn.
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